
f - J_ 

--+C~ss- IV Y)ot~ - Jlf. /a. 201-4 

_ ___.&~l,J·ec.l - M~c_.\....,,l·c~~---_,___/e~ Ms. SL<..bbma. 

--+-------Cb~~~-~-------
--+------..!...--L~1~t~-------

~ meg_Z)ill~ • 
--~'4..L-66~~~~______!_~~-~s~f a~n..!.!,.,d!.u«.a~ u nf ~ fu cen h'm 

Cm ~ >-t1el.-te ( m) aocA ]~/om ek C km) 

,1-tg 

- looom -
1 --

- lom m -

To 
/. m = 1o o c,rn c: 300 c. •. • J m ~ loo 

- 0 + / I:, -
- qoo + J 6 -
-.... qi f'Y) 

- X oo .J- I - :-. I qoo + I 

3omm 



I 

PQ - 2 
A Conv~ fo meTu.! • 

• ,.J 

I ktn - 1()0() rr, 

I . 7 l<-rn 

=-- l X I r'\O o - , ooo rn -

L• 9 l<-m 75{:l h') 

~ 9 Xtooo -t- 75'0 - qooo-,- 7 50 =-- q7~0 IY) -

3. 1-kf'() 1.h"" - 1- X JoDo r 2. 5 - l.oo o -1- l. 5 - -
::.._ Lo 2.. 5 rn 

:L g }<.,rn 2- f:to M ::. 8- X tooo + 2 5o =-too o +- i~-o 

-=-8 L5b 1'Y) 

C- (e>nvo~} Jo H1 tp -I 0.. p .J. hnrJ r P r, Jim ~ . -

__w .. 
y ri 

I 6 ~ 8' -!:- loo 
- ~ .:! ('rn 

I . Soo Cm =- 500 ' ·loo 5' l'Y) - -- - . -

2. q2..oern - Cf2-3-:" /Oo - q,,, 2. ';::: ~ IT) - -

~· IC 3 8 c.rn =- /g 38 -:-/000 -:::... / 6 "' :J 8 ~h? 

½ [qo 1 Cm - I 9o/~ /ooo - 1qW) 6/~ ~ -



p -

/. 5 5 b1 .:::. .~/15 -:- fooD --=. 5km 11.;,'!) 

2. <>Ooo h1=- 30007' loot> <..m 

50 00 ::. 1i9~o~ /c,oo:::. ½J<m q5DM 

£.. C 

I. 2. em - 2-. X lo =- 2o ml'Y'\ 

c.m ~ 2.. X It> ::. 

~- 1CH> 5rom ~ lXfo +5 = 7o+-5-=- 75 

½. 8 ) CIY1 q w, m :: 81 X I O +- q .: ~ / o + q .:: ~ / 

J. - 3o ~ lo - 3 C. rn 

c o rrrrn =- 3 oo 7 I o 

---+----- ---------------



e. 'i:liue. ~mJ.. 

Jo !)Ooem, 

~oln' A t~ a:t a .A~ 1 [of;oo 0:rJ 
.::- loo c 

Cc, = 2 ooo 
, 

ooo 7 000 

=- 2. 3 l<m 

oln'- -- J ( rt') 

..:... I 5' X fo 

- l5omrn 

--

Socm 



Pj- 5 

elf a .&ope js_B_n cm. £~re ~ ilie ~ 
n rn and C.hl. 

a 
=- +- /oo 

-- 73 em 

-
I :::: ooo 

-= 2..So 

3 --
4 



Ex. u'&e. q. a • 
A- ConvexJ: ,Tu ~._._.._0'1i-=-·------------

1. 00 1 .= looo 
--

2. . 19<] ..:: 9 )( (ooo-t 279 

-- ooo 

' • ooo -- L,ooo :- looo = 4 

_: .1 ooo ~ (oo o =- l. 

D 2-1000 

-- I _J_o -: / o o o :: 3/ I~ 2oi 
0 

-;.... goo8+{ooo -::. 



~-1 

Exercise 9.1 ____ ,; .. £;~ 

A. Circle the measure that is shorter. 

t. 9or2 km 2.9or4 m 

4. eor 6 m s.(25 c~or 75 dm 

B. Use a scale to measure the given line segments. 

1. A B 2. cm 2. M 

3. p Q 2 cm 4. R s 

3. 50cmor~ 

6. 900 m or@o ~ 

N cm 

cm 

mm 

mm 
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